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Who is the Chief Minister of Rajasthan state (as of June 2024) ?
(A) Vasudev Devnani (B) Bhajan Lal Sharma
(C) Sachin Pilot (D) Kalraj Mishra
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Dumping refers to :

(A) In abroad buying of goods at low prices and selling at higher prices locally

(B) Expensive goods selling for low prices

(C) Reducing tariffs

(D) In abroad Sale of goods at a lower price, below their cost and price in their home market
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(A) =R =T (B) S W=
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Wha discovered Oxygen ?

(A) Bartolomeo Cristofori (B} Joseph Priestley
(C) Georges Claude (D) Christian Schonbein
Ty =@ Tif w = o TR fF g A

The Indus Waters Treaty was signed in the year .

(A) 1950 (B) 1952 (C) 1949 (D) 1960
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Which among the following was designated the first RAMSAR site under the Ramsar Convention in
India ?

(A)  AshtamudiLake (B) Chilka Lake
(C) Sunderbans (D) Wadhwana Wetlands
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Poverty in less developed countries is largely due to :

(A)  Lack of cultural activities (B) Lack of intelligence of people
(C) Voluntary idleness (D) Income inequality
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When is National Maritime Day celebrated ?

(A) 7 January (B) 10July (C) SApril (D) 4March
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What was the primary objective of the demonetization policy implemented in India in 2016 ?
(A)  Reducing inflation (B) Promoting cashless transactions

(C) Curbing black money (D) Boosting economic growth
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In what ways does the rise of populism affect global political stability ?

(A) By increasing political polarization and undermining democratic institutions
(B) By focusing on national interests

(C) By strengthening international cooperation

(D) By addressing shared global challenges
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CPCB stands for :
(A) Control Pollution Gentral Board ~ (B) Central Pollution Gontrol Board
(C) Control Pollution Control Board (D) Central Pollution Central Board
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(A)  ST=A s v wrr F fan (B) Tl e %1 weF & fan
(C) w9 FAF fom (D) =mEF w0 F fom
What is *hashtag’ used for on social media ?

(A) To increase engagement and reach (B) To delete a post

(C) To decrease content (D) To decrease likes

A W FEA 2fem wfeen A dpa FARMEES iR fiE e w AR ® e i =W i

Which ization focuses on ing regional and in
South Asia ?
(A) OPEC (B) BRICS (C) ASEAN (D) SAARC
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What is the main advantage of using a double-blind study in research ?
(A) It eliminates researcher bias

(B) Itis less expensive to conduct

(C) It simplifies data analysis

(D) It requires fewer participants

TR @i ®1 ' aie T’ (2 g ) & A o e E 2

(A) =R (B) FmEen (C) €@m (D) #¥F
Which mineral is known as ‘Buried Sunshine’ ?

(A)  Bauxite (8) Coal (C) lron (D) Mica
F2g 3R eF 1 7 12.36% H awE HETEI

Central Excise Duty rates were increased from 12.36% to ;

(A) 16.50% (B) 20.0% (C) 13.10% (D) 12.50%
e i 3§ wE W AW T 99w ?

Y i (B) TgTa TT sETER

(C) +4 (D) FA=T

Which country is the largest by land area ?

(A) China (B)  United States of America
(C) Russia (D) Canada
uferrE faem s (ADB) 91 % § 2
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What does the Asian Development Bank (ADB) do ?

(A) It manages the stock exchanges of member countries.

(B) It enhances trade agreements between member countries.
(C) It requlates financial markets in Asia-Pacific countries.

(D) It provides financial assistance for the development projects.

A o W AL S a1
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(C) e umes (D) =E fafem wfzw
First Governor General of India was .

(A)  Sir Charles Meiclafe (B} Robert Clive

(C) Lord Amherst (D) Lord William Bentinck

e foiies Td TEfieH (LSST) 1 9% Fd #4017
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What is the main function of the Large Synoptic Survey Telescope (LSST) ?
(A) To study dark energy and dark matter

(B) To monitor the sun’s activity

(C) Todetect gravitational waves

(D} To observe and catalogue near Earth objects

Fretfeoria § 9 fod ifven =1 TEEE we = 27

(A) Rt egem (B) WrEERRT=

c) F== (D) TEETEM

Which of the following is known as the Powerhouse of the cell 7
(A) Endoplasmic Reticulum (B) Mitochondria

(C) Nucleus (D) Ribosome

THATTFRT 1 i S st 7641 Sz Fa T

(A) 10 faH= 2021 (B) 10 fawar 2022

(C) 10 faEiar 2023 (D) 10 fazaw 2020

When was the 75™ anniversary of the Universal Declaration of Human Rights celebrated ?
(A) 10t December 2021 (B) 10" December 2022

(C) 10" December 2023 (D) 10" December 2020

Choose file | No file chosen

Choose file | No file chosen

Choose file | No file chosen

Choose file | No file chosen

Choose file | No file chosen

Choose file | No file chosen

Choose file | No file chosen

Choose file | No file chosen

Choose file | No file chosen

Choose file | No file chosen

Choose file | No file chosen

[-Seleot—-

Submit Objection
[--Select—-

Submit Objection
-Seleot—-

Submit Objection
[-Select—-

Submit Objection
[--Select—-

Submit Objection
[-Seleot—-

Submit Objection
[--Select—-

Submit Objection
[-Seleot—-

Submit Objection
t»&lecl--

Submit Objection
[--Select—-

Submit Objection
[-Select—-

Submit Objection
[--Select—-

Choose file | No file chosen
Submit Objection


https://ctcp24.com/Qimg401/R1GK2175.jpg
https://ctcp24.com/Qimg401/R1GK1674.jpg
https://ctcp24.com/Qimg401/R1GK1328.jpg
https://ctcp24.com/Qimg401/R1GK1976.jpg
https://ctcp24.com/Qimg401/R1GK1838.jpg
https://ctcp24.com/Qimg401/R1GK2028.jpg
https://ctcp24.com/Qimg401/R1GK1395.jpg
https://ctcp24.com/Qimg401/R1GK1283.jpg
https://ctcp24.com/Qimg401/R1GK1078.jpg
https://ctcp24.com/Qimg401/R1GK2061.jpg
https://ctcp24.com/Qimg401/R1GK1070.jpg
https://ctcp24.com/Qimg401/R1GK1640.jpg

59

60

61

62

63

64

65

66

67

68

69

70

71

72

Join Telegram Group "HaryanaJobs.in"
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When was the first five year plan implemented in India ?
(A) 1946 (B) 1986 (©) 1951 (D) 1961

AEETA o THEE g 7 v
What is the chemical formula of Nitrogen ?

(A) Ny B N (C) N (D) Ny

i fau T Feredi § 9 RDX =1 gof w9 ¥ b
n) Fod TEeTiz et (B) ¥ EErYA THETE

() fims feurdde wwmivR (D) T faurde wwawfga

Give the full form of RDX. from the options below.

(A) Research Development Explosive (B) Raw Detonation Explosive

(C) Research Department Expansion (D) Research Department Explosive

oy A
e ferrail st e’ feas g fo 7 22
(A) TR TEE (B) i faurd faen
(C) et ami (D) Hfereirero 7a
The book ‘Discovery of India’ is written by whom ?
(A) Jawaharlal Nehru (B) Suryakant Tripathi Nirala
(C) MahadeviVerma (D) Maithilisharan Gupt
2016 1 e § T e g e Y sifo fofer o o2 B
(A) 20 T (B) 30 (C) 31 frmmm (D) 15 s
What was the last date of tendering old currency in 2016 demonetisation ?
(A) 20 Novemb (B) 30 December (C) 31 December (D) 15 October
Frefafea & & = W ywEr e S (RBI) #7114 78 &7 8
(A)  fERER gE = fafe (B) ¥R AR w1 fafmafa wen
(C) whiHl Fre I FEn (D) Hife ifa =1 Heer
Which of the following is not a function of the Reserve Bank of India (RBI) ?
(A) Regulating foreign exchange (B) Regulating the stock market
(C) Issuance of currency notes (D) Conducting monetary policy
IGST # “I* %1 =1 Hawra # 2 ¢
() FiEz (B) A (c) Rz (D) ¥=a
What does “I" in IGST stand for ?
(A)  Important (B) Interval (C) Integrated (D) Internal
sfefer # T S E 2 B
(A) e (B) FU (©) fare (D) faedt
Which is the Capital of Australia ?
(A)  Melbourne (B) Canberra (C) Brisbane (D) Sydney
frefafas § § A @\ it wewd 7641 § 27 B
(A) F=Em (B) =l (C) ETH (D) =t
Which of the following is not a social media platform ?
(A) Instagram (B) Naukri (C) Facebook (D) Twitter
gd & dfguaH & o SATHR W S T F ol % s o ) 4
() Tl s (B) e ST
(C) =T ST (D) B s
Cybercrimes fall under State subjects as per the of the Constitution of India.
(A)  Third schedule (B) First schedule
(C) Seventh schedule (D) Sixth schedule
xRt (B i ) e ferdt 2 B
(A) e (B) ¥EF (C) =rE=m (D)
Who wrote “Mrichchhakatika™ (or the little clay cart) ?
(A) Kalidasa (B) Sudraka (C) Charudatta (D) Vasantasena
SwaTE fai st # wafrE T A
#)  Tadifedi =1 8= 3 (B) Tadid wgEi #1 w9 Fen
(C) =ia si T (D) Tedifesdl =1 At wem F=W
What is the primary objective of counter-insurgency operations ?
(A)  Military suppression of insurgents (B) Supporting insurgent groups
(C) Negotiation and compromise (D) Providing amnesty to insurgents
shiei e (TU) %0 3 b
(A Tomwrie 29 H qEER sEEeE % fau e geEm wwm v
(B) ITU afvaes dexie 2w 1 Frmai s & sl i /it si | wifear wem @1 b
F R
(C) ITU it =1 daell 1 Fva i @ iR dmell 5 or 2 faam 1 el w5 )
(D) e e ¥ Tt Fn
What does the International Telecommunication Union (ITU) do ?
(A)  Provides financial support for ication i in ing countries.
(B) ThelTU monitors global internet traffic and regulates onlir and social media platf
(C) ITU oversees intemnational postal services and regulates mail delivery across borders.
(D) Regulating i i icati
T TR U I e (NS) FE e 7 A

(A) AT (B) wANTTE (C) = (D) ETS
Where is the National Sugar Institute (NSI) located in Uttar Pradesh ?
(A)  Kanpur (B) Prayagraj (C) Noida (D) Lucknow
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=G A HArE T 7

(A) =7 4@ T Forar 9iEda H garaa wl
(B) =My =R v 1 fafafoa w5
(C) afFfETEl = % fashrm =i F=mE &

(D) e 3wl % feru woggl Feelm aqn

What does quadrilateral security dialog do ?

(A) Address climate change in forest regions

(B) Regulate international trade world

(C) Promote infrastructure development

(D) Enhance maritime cooperation for security purposes

A HAHA 1 F A ST A SR St # wEA  mE f g ?

(&) =R 21 (B) =T 25 (C) =T 14 (D) AT 19
Which article of the Indian Constitution guarantees the freedom of speech and expression ?
(A)  Article 21 (B) Aricle25 (C) Article 14 (D) Ariicle 19

5 Wi, S e @ H (e 2024 9%) Tl § 4, fFw 3w & T neE T e ?

A R (B) Uriz (c) =A (D)

Luis Montenegro, recently seen (as of April 2024) in the news, became the new Prime Minister of
which country ?

(A) Mexico (B) Poland (C) Spain (D) Portugal

o fagm 4 fremi o o e 3 0 1 2, faaw . fEa giw fremen s =it i e e
wferenfi faa s A A frerede s e @ s 10 1 @ s
The ratio of glycerin and water in a mixture is 3 : 1. How much fraction of the mixture must be drawn
off and substituted by water so that the ratio of glycerin and water becomes 1:1 ?

34 © 13 (D) 12

T 9 A S R, X SY, 513 % arqu A &1 o7 8 wftet fram e en &, s R o ¥ §
oo < #, @ X R Y AT 20 3 @ I &) y F e e A @ x n?

A container contains two liquids, X and Y, in the ratio 5 : 3. When 8 liters of the mixture is drawn off,
and the container is filled with liquid Y, the ratio of X to Y becomes 2 : 3. How many liters of liquid X was
in the container initially 7

8 3 1
w13 ® 26, © 10 ©) 165

W W, U S w1 UE G 36 w wewd § | i I % ae e w5 9w 6 3(1/2) S e
& @ fam F Fo g ww & 0 E e w0 e we m?

(&) 6(1/2) Hx (B) 10(1/2)  (C) 127 (D) 217

A pump can fill a tank with water in 3 hours. Due to leakage in the bottom, it takes 3(1/2) hours to fill it.
In what time the leak will empty the fully filled tank ?

(A) 6(1/2)hours  (B) 10(1/2)hours (C) 12 hours (D) 21 hours

ittt foig A § B T 50 /o 1 M | = & oK B F1 30 /D F fa ¥ A v e &, @
T SiEa T T F |

(A) 425fmfUsn  (B) sT.sfEHusm  (C) 45fe/sEm (D) 40 Fe/ER

Kartik walks from point Ato B with 50 km/hr speed and returns B to A with speed of 30 km/hr. Find his
average speed.

(A)  425km/hr (8) 37.5km/hr (C) 45km/hr (D) 40 km/hr

T Zu-Terrd #1900 T H A A qA 5% F A EE 1 W 2080 TH H 4w W HH R wfawa
o & ?

By selling a tape-recorder for Rs. 1900, | lost 5%. What percent shall | gain by selling it for Rs. 2080 2
(A) 45% (B) 19% (©) 85% (D) 4%

9 fersit/wer 1 ey fehs # weed |

(A) 35 EUEFS  (B) 1.5HEUEHEE  (C) 05 TEyVIHEE (D) 2.5 WREvEEE
Convert 9 km/hr into m/s.

(A) 3.5m/s (B) 1.5m/s (C) 05m/s (D) 25m/s

21 TS F LCM 495 ¥ 3R T HCF 5 ¥ | 7fk Wemsii &1 =1 100 & 1 73 S I Hife |

The LCM of the two numbers is 485 and their HGF is 5. If the sum of the numbers is 100, then find
their difference.

(A) 15 (B) 20 € 5 (D) 10

A, B3I C ¥ WAl 1 3i5a 171 45 ¥ #1740 A 397 B 1 WA F1 $ira #7140 T ¥ 370 B A
C i fafeA #1 Sirea 3 43 ¥4 ¥, 1 B F1 WA 1 A=A FE?

The average per day income of A, Band C is Rs. 45. If the average per day income of A and B is
Rs. 40 and that of B and C is Rs. 43, then the per day income of B is :

(A) Rs.415 (B) Rs.425 (C) Rs.30 (D) Rs.31

I R0 FTAT TR F IR, FFTRRFAEF R TR F AT R A g e @
W A e T 7

After selling 17 books for Rs. 720, a shopkeeper says that he losses by C.P. of 5 books. Find the C.P.
of the book.

® Rs.120 (8) Rs.90 (C) Rs.50 (D) Rs.60

T H 21 AR 4 1 10% HAawE! 3 qaw T o | 60 7 A3 un, M| s S=iean w1 g w9
N 47% WG E1 ¥ S F 308 WAl & S ¥, A AwiFa Hawsi S wen 3@ Hi

There were two candidates in the election. 10% of voters did not cast their votes. 60 votes were found
invalid. The winning candidate got 47% of the total votes and won by 308 votes. Find the number of
voters enrolled.

(A) 6.200 (B) 6340 (C) 6,150 (D) 6,600

6/5, 7/10, 2/25 1 THTH HAGES (LCM) T Fifad |
Find the LCM of 6/5, 7/10, 2/25.
(A) 435 (B) 44/5 (C) 415 (D) 425

A F1,12,000 77 F1 ot @ UF STEE I FFA0 2 76 919, B H 80,000 T Y s @ mé 3w
e i & T, a9 35 2 WEH A% C 3 72,000 T F Yl g i sramm # wite €
=AM # YEAE § 10 9EH 415, B 7 8,000 ¥ a9H @ o o © 3 4t 8,000 ¥ud =mem # o 1 Atk
Bl ¥ 3fq F e ¥ § vk fewl F 9,800 T WA g, 91 Fer @ o on ?

(A) 30,800 FF1 (B) 33,600 %7 (C) 32,400 ¥ (D) 35,800 FT%

Astarted a business with a capital of Rs. 1,12,000. After 2 months, B joined the business with a capital
of Rs. 80,000, and after another 2 months, C joined the business with a capital of Rs. 72,000. After
10 months from the start of the business, B withdraws Rs. 8,000 and C also withdraws Rs. 8,000. If
B received Rs. 8,800 as his share in the profit at the end of a year, then the total profit was :

(A) Rs. 30,800 (B) Rs.33.600 (C) Rs.32400 (D) Rs. 35800
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WIMRY] AT T AT AR 25 T H A T G O, @ = 2 A i |
The amount will triple in 25 years on simple interest. Find the rate of interest.
(A) 8% (B) 10% (C) 15% (D) 12%

Fma UF w51 A R wwa ) e w0 w2 a3 50% S 3 2, 9@ e 5w
=+ F1 e foll 4 wem 2

W) 347 B) 1o(12)fE  (C) 44 fem (D) s2fw

Komal can do a work in 51 days. Bimal is 50% more efficient than Komal in doing the work. In how
many days Bimal will do that work ?

{A) 34days (B) 10(1/2) days (C) 44days (D) 32days

e & 28 BT ¥ i1 %1 3ivea 5 o118 B 3 T 91 fen, o 4w 3iEE 0.5 5% T, 91 w5 91 A
Sl g T s s a7

Thi marks of in was 5. 8 students left the school, then this average
increased by 0.5. What is the average of marks obtained by the students who left the school ?

) 425 (B) 456 (C) 505 (D) 375

=T F AT W 5% T2 F WA TF TR 608 T T 20 e s = wis g g, o =4 w1
T o g 7

With a 5% discount on the cost of sugar, a buyer could purchase 20 kg more sugar for Rs. 608. What
is the original selling price of sugar ?

(A) 16.50 B) 16 (C) 14.50 (D) 15

T T 2 =] 49 A wEE = A 13,520 T € S E, A 9w i fead 2

A sum becomes Rs.13,520 in 2 years at 4% per annum compound interest. Then the original sum

is:
(A) Rs. 12,450 (B) Rs. 12,500 (C) Rs. 12,250 (D) Rs. 12,700

TF THEAEH UF 96 F i e T 12% F g2 30 R 2w ¥ fF fwa e 1320 7 & @ am
dfFa g e

A shopkeeper allows a rebate of 12% on the marked price of an article such that the selling price is
Rs. 1320. Then the marked price of the article is :

(A) Rs. 1600 (B) Rs. 1550 (C) Rs. 1490 (D) Rs. 1500

4w X 3R Y e drad e 2 A e 20% 91 268% FH E, A1 ge Y gen X & frad wfad wn
&7

Two numbers X and Y are respectively 20% and 28% less than a third number Z. By what percentage
is the number Y less than the number X ?

A 9% (B) 8% © 12% (D) 10%

afz = 10 e 39 F o = o i 180 ferft <1 oin 48 < o frm fam H @ €2

w (8) = (©) =™ (D) IW

Which way are you facing now, if you walk 10 meters to the North and then turn 180 degrees to the
right 7

(A) East (B) West (C) South (D) Nerth

3 fem T E Sverm W W SRR F W A Twid § s w1 e
600%1

Given below is the pie chart which shows the percentage distribution of the five types of ice-creams
available. Total number of ice-creams is 600.

ICE - CREAMS

Vanilla
Chocolate &
Buuar-scmc

= Afen sEEHT e A A #1 WE TEH We At e wied AT Ten w gen 8

21 wifer &, o el SEEET Wi At nfgensdi F Ten Fia S

If number of females who bought Vanilla ice-cream is 21 more than number of males who bought

same flavoured ice-cream, then find the number of females who purchased Blueberry ice-cream ?
B) 82 (D) &1

Blueberry

sier § o GeAmd (A&B) T FE 3N B— A %1 4H 96 HL |

Find the missing numbers (A&B) in the series and find the value of B—A.
51,57,63,A,75,81,B

A) 18 | 14 ) 28 (D) 22

4% a&b=a2+b+1, asb=a+b?+2, T (4$3)&2 T FL |

Ifagb=a2+b+1,agb=a+b? +2,find (4$3)&2.
& 322 (8) 286 (C) 228 (D) 242

sjaen 4 e HeAn (A&B) F1d L R B — A %1 HH T w1 :

Find the missing numbers (A&B) in the series and find the value of B— A.
123,148, A, 198,223, B, 273

A 75 (B) 100 (C) 25 (D) 50

=% ey 9 Fifaw =i W Tog % T o s

Find out the alternative which will replace the question mark.

187536 5%

(A) 20 | 9 €} 5 o 7

T 1 A FE W A I A |
By analysing the graph, answer the question.

Foreign Exchange
8000 T
5000 1
4000

3000 W Forsign Exchange|
2000
1000
0
8§ 2 88 3
14314¢%

1992-1993 = 2520

1993-1994 = 4201

1994-1995 = 3720

1995-1996 = 5040

1996-1997 = 3120

fom o fareeit w1 wiem & fooer ad =i gomn § i 9fs g afs 22

For which year, the percentage increase of foreign exchange reserves over the previous year, is the
highest ?

(A)  1996-1997 (B) 1993-1994 (C) 19921993 (D) 1994-1995

A
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0 sfE@en § 3 = Am : Z, W, R K, ?
What comes next in the series : Z, W, R, K, ?
W c (B) D © A (o) B

=% faey @ Fifau s wea foe % wam w s

Find out the alternative which will replace the question mark.
138:18%::723:7

n 772 B) 79 () 728 (D) 7

Frefeten # @ F17 m T vhe, ¥ i s & e Hay F1 we o 8N ° i 87
Which of the following diagrams best represents the relationship between Examination, Questions
and Practice ?

@ @ ) ®
QO

© O o (31D

3 st U fauet # seEsE R T wie AT dil o S T § | AEEHE 3 9 S i e
279 A a9 T E T 262 T @ g0 R @i 3 5 o sreewm 2w

The Venn diagram shows the number of people who bought ice-cream and drinks in a theatre.
Ice-cream is sold for INR 3 and drinks are sold for INR 2. Atotal of INR 262 is spent. How many people
bought both a drink and an ice-cream ?

Drink Icescream
° 22
(A 44 (B) 28 © 30 (D) 40

Frefafaa § & g v % sten st aofomen w9 3 §2
Which of the following words has its letters in an alphabetical order ?
(A) Almost (B) Work (C) Drizzle (D) Swim

FrefatEa wwA 4 T S | defiE

1. A+BTAGEABHTE

2. A-BRIITABHTAL

3. A‘BFIETA BF R

4 ABBFHIETA BT WEF

The following question pertains to the given information :

1. A +BmeansAis the mother of B.

2.  A-—Bmeans Ais the sister of B.

3.  A*B means Ais the father of B.

4. A BB means Ais the brother of B.

FfatEd § § FA M HEF @ fF N, M= am g’ ?

Which of the following indicates that “N is the maternal uncle of M” ?
(A) QBMBEN*P (B) NBP—L+E-M
(C) Q*N*M+P (D) P+N*M*Q

Az ‘FACULTY' wIe & e, T, Wierd i s S1ari o1 SWaim i U Fieeh s o o &bl &,
Forert] welieh S1ER o Shae Usk AR SUERT TRA T €, O 36 U a4 VIe & a9 S1ER R S 3 2 19
T T e T AN N FHA E, A A I F K F w9 F Tl 0 Afe v F Aferw 0 e
N HH €, A IWFZ F w0 A Fafem w0

If a meaningful word can be formed using the second. third, fifth, and seventh letters of the word
‘FACULTY', with each letter used only once, then provide the last letter of that newly formed word as
your answer. If no such word can be formed, mark your answer as ‘X'. If more than one such word can
be formed, mark your answer as ‘Z'.

®w Y B) C ) X o z

=1 ol el e =i v Srd 4 ¥ S FieE | e F1  § s s 9 = I fawed fru
# 1 I feaeredi § wedl #1 e S 94 S ye g § sa fvn & Tue weies g6y s S )
Given below is a pair of words/ letters/numbers separated by a colon and followed by four answer
choices. Choose the pair of words in the answer choices that best expresses a relationship similar to
that expressed in the original pair.

ABC: ZYX::

(A) BDE :XCD (B) CBC:XZY (C) BCD:YXW (D) CDE:XVZ

w oAfe fig A & wer ¥E w & i 5 e S R we 8, f 3w uftey # s, fie
2 it =i # Sl it ofq H 1w g w6y A F wme i osife fofa e

(A) 7 =i ey 3R 3 = S (B) 2 =l Uiy 3N 3 wiiH I

(C) 4 =iz ufem iR 4 i 3 (D) 1 =wiek Uiy R 2 s T

A person starts at point A and walks 5 blocks North, then 3 blocks West, then 2 blacks South and
finally 1 block East. What is the persen’s final pesition relative to point A 2

(A) 7 blocks West and 3 blocks North (B) 2 blocks West and 3 blocks North

(C) 4 blocks West and 4 blocks North (D) 1 block West and 2 blocks North

A {98 (7) & TIH WIS AFE 8 9 3t Aia g

Choose the appropriate figure from the Answer Figures to replace the question mark (?).

( |™ s |2
®) I ®) m © ﬂ o) a

A W= “EVEREST” % #tert] #1 A H afem &, @ v F 76t @ 8 30 & 390 @)
FH-| A2

If the letters of the word “EVEREST" are arranged alphabetically, then which letter would be 279 in the
right from the second letter of word ?

@ R ® s ©) E o Vv

T g B IR 4 g U 3 e, e o i ol A ) a3 58 e
2

n) (B) @& (©) swirsft (D) e

Introducing a girl, Anthony said, “She is the daughter of the daughter of the mother of my aunt.” How is
the girl related to Anthony ?

(A) Brother (B) Sister (C) Neice (D) Nephew
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A KxL MAdfFK LT M, KL mad K LA TR madFK LA
TEE T M+N+OXP HNFIPH 7N H E7

(&) N, P# ¥ (B) N, P& wg ¥

(C) N PF=TTE (D) NPEEE

If ‘K x L' means K is father of L, 'K+ L' means K is wife of L and ‘K +L' means K is brother of L, then
whatis the relation of N with P in M+N+OxP" ?

(A) Nis the cousin of P (B) Nis the father-in-law of P
(C) Nisthe uncle of P (D) Nisthesonof P
sfegen H § e I @ |

Find the odd man out from the series.
2,6, 12, 20, 30, 44, 56, 72,90, 110

(A) 110 (B) 72 (C) 56 (D) 44
o M foramedi | A ASiE T 9 HwE

Find the odd one out from the given options.

(A) 125 (B) 652 ) 5 (D) 25

e 1 e F R v w1 3w ¥ e g A | faha el § u wied wen ¥ seiem 3
R SR I A e FeERE e
Examine the table and answer the question. Number of Candidates Appeared and Qualified in a
Competitive Examination from Different States Over the Years.

1997 1998 1999 2000
App. Qual. App. Qual. App. Qual. App. Qual.
5200 720 8500 980 7400 850 6800 775
7500 840 9200 1050 | 8450 920 9200 980
6400 780 8800 1020 7800 890 8750 1010
8100 950 9500 1240 | 8700 980 9700 1200
7800 870 7600 940 9800 1350 7600 945
1998 H Wt Tl & weivl Swiward 1 Fel Hew, 2000 F @ T | I SHEan # e den
ot i € 2
Total number of candidates qualified from all the states together in 1998 is approximately what
percentage of the total number of candidates qualified from all the states together in 2000 ?
(A) 109.17% (B) 107.17% (C) 108.17% (D) 108.27%

JJG'UZEl

Atz ‘REGULATORY', W& ¥ Bsft el &1 fiIsil avieten 7 % S8R srafeaa T o, @ gredafen
FT1 ¥ AR o weni 3 feaf smfatda i 2

If all the letters in the word ‘REGULATORY', are arranged according to English alphabetical order, the
positions of how many letters will remain unchanged after rearrangement ?

w 3 B 2 ©) 5 (D) 4

i (n/5) 420+
(1024)"°) x 4 S

16" x 4"~ 1

; (n/5) 420 +1

Evaluate the expression (1024]7“ =
16" x 4"~ 1

A) 32 (B) 128 (C) 64 D) 16
g T |
Complete the analogy.
B8:256::27: .
(A) 6561 By 729 (C) 216 (D) 90625
@l 36, 54, 74, 96, 120, Lkt
Complete the series 36, 54, 74, 96, 120, .
(A) 146 (B) 148 (c) 152 (D) 165
sl 36, 54, 74, 96, 120, Fukadl
Complete the series 386, 54, 74, 96, 120, .
(A) 146 (B) 148 (C) 152 (D) 185

T S AR-gE SR T e e e A 90 e 3 i e o s f 2fermed fom #
45 fetit % 3t wrFe o 1 39 wed § See it a1 o e R d # 2

®) s (8) o (€) wfem-yd ©) w

A manfacing South - East makes three turns of 0 degrees in the anticlockwise direction and then two
45 degree turns in the clockwise direction. In which direction is his right hand now with respect to
him?

(A) North-East (B) South (C) South-East (D) East

Az ot % =1 g0 F2 # 15 g #3110 T o € A 36 e 9 6 A # g w % fag fee
AT F ST A 2

How many workers would be needed to complete the same task in 6 days if it takes 10 days for
15 workers to complete a task ?

» 22 ® 28 ©) 25 (D) 18

7% 95474 F1 FBADA ¥ 4 ¥ forn < 2, 1 96457 1 % feran = 22
1f 95474 is written as FBADA, then how is 96457 written ?

(A) FCABD (B) FDACB (C) FCADB (D) FDABC
@ 18, 40, 70, 108, T H

Complete the series 18, 40, 70, 108, .

(A) 154 (B) 164 (C) 134 (D) 144

SAFH § # o Hen v g 1 et w2

Which number will replace the question mark in the sequence ?

5,12, 286, 7,110,222

(A) 56 (B) 55 (C) 52 (D) 54

3% MANGO #1 80415 % &9 ¥ Fifed T 71 &, @t ferfefan # A T dedmons: #18 81504 27
If MANGO is coded as 80415, then which of the following has thus numerical code 81504 ?
(A)  GOANM (B) AOGMN (C) MNGOA (D) MGOAN
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FIH-TE o w1 SR =@ aren st S afen we - frm § e

(A)  T-ufrEm (B) IW-T (C) =fem-—ufrem (D) M-
A person walking towards North - East direction sees his right hand in which direction ?
(A)  North-West (B) North-East (C) South-West (D) South-East

& e o 1 e T H A E ) e, e w3 E S ama A e

P, qTe B Ry w22

(A) (8) =& © = (D) st

Heera is the daughter of Amal's father’s sister Rema. Aryais the daughter of Divya who is the mother
of Amal. Murali is Rema'’s father.

How is Arya related to Murali 7

(A) Grand-daughter (B) Sister (C) Mother (D) Niece

e o O 99 € o on F o F ey €1 A, g o o d e, e s g FAm R
7 3 foen w7 & fawda €1

I3 F =PAf SR FA q E 2

(a) e (8) wh (c) @ (D) &

Six friends are sitting in a circle and are facing the centre of the circle. Deena is between Nandhu and
Unni. Aby is between Biya and Betty. Nandhu and Biya are opposite to each other.

Who is sitting right to Nandhu ?

(A) Biya (B) Aby (C) Deena (D) Betty

5 e Tafeiet 1 T S ¥ OEie UF W B e S # i d D e g 6w
ST N § 2

A) FEA (B) TR (C) ufemm (D) zETE

When a cylinder is sliced by a plane parallel to its height and passing through the center, what is the
shape of the cross-section ?

(A) Circle (B) Rectangle (C) Eliipse (D) Triangle

= AR, AEA F A2 F A W W g, @ SR, A 3 R R e 87

(&) (B) (© = (D) == it (HiT)
If Xavier is the brother of the son of Yakub's son, how is Xavier related to Yakub ?
(A) Grandson (B) Brother (C) Son (D) Cousin

A% vl ywan 2, @ w1 FA-m fam a?

() HTErE (B) FEm €) FrEr (D) HrEER
If the day after tomorrow is Friday, what day was yesterday ?
(A) Tuesday (B) Sunday (C) Wednesday (D) Monday

AT 26, BF 25 B 4 36 W 2 1 A whoedrtua f 90 ¥, A ULTRA I 5 24 R 7 T
T A A ?
If Ais substituted by 26, B by 25 and so on upto Z by 1. What will be the sum of numbers substituted
for the word ULTRA ?

(B) 61 © 7 (D) 68

wF frifea Sreedm =1 A fawia fFl & 0 99 T wR g0 w1 W g, 7 i fa o i
For - A 7

(A) e (B) Tm (€) = (D) ettt

Aregular dodecahedron is sliced by a plane passing through two opposite edges and not through any
vertices. What is the shape of the cross-section ?

(A) Pentagon (B) Rhombus (C) Rectangle (D) Parallelogram

T |

WEE ;A ;A

(A) TR (B) HEHIEA (c) = (D) ==E
Complete the analogy.
Light : Bulb : : Sound :
(A) Headphones (B) Microphone (C) Speaker (D) Mouse

e mu il & /, 39 foa = 99 &4 5 fo o oifam 9m % &9 8§ 598 3 )
From the figures given, select the one which is most suitable as the last part of the figure.

o
0 anel O
0 Vv
0 ?
o
[=I=I=] 0 0 ae] O
® 0 © 1] ) cZ| g
A0 AN O AA O
FreAfafas # § asirg €51
Find the odd one from the following.
(A) 453 (B) 455 (C) 452 (D) 451
O 0 | O
FAN A 0O 0 0D A A
AN A A A

feu o el # | S Jf@en § e i 91
Choose the next diagram in the above series from the options given below :
8] 4 A 8]

w P4 @ DD @ 0 op O

o Tt & e e o 3 T el wRe ¥ i wwn d v v e i A9 @ S ae,
Bt T A e, S Wl F Al e, @ I8 Fa e vel vy

A hunter was asked how many birds he had caught and had in his bag. He replied that there were all
parrots but eight, all ducks but eight, and all swans but eight. How many birds did he calch in total ?

A 12 (B 10 © 9 (D) 18

=g farsreq =amd, it afedi 4 fim &

Indicate the option that is different from the rest :

(A)  KPML (B) QUSR (C) BFDC (D) VZXw
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HITE I
AR wHe : ; HaER ;2
A) F=m (B) TR (c) feFe (D) W=
Complete the analogy.
t : Blueprint : : G 1?7
(A) Canvas (B) Score (C) Script (D) Siage

e e o 3 g, Wi e, e B2 el 92t o ) A e i & R wER
Tt 27
@) e ® T © ¥ (o)

Introducing a woman, Shashi said, “She is the mother of the only daughter of my son.” How that
woman is related to Shashi 7
(A)  Wife (B) Daughter-in-law (C) Daughter (D) Sister-in-law

1 sjEEn & x T F
Find x from the given series.

12,16, 24,36, x, 72

(A) 48 (B) 62 (C) 52 (D) 50

= wfafda @ Hiaw )

Find the mirror image.

/i
VANV ANEYAN

= fafrad $13 i #, 'COMPUTER' %1 'DPNQVUFS' feran =i 1 3 #13 # ‘LAPTOP' #1 3 feran

= ?
In a certain code, ‘COMPUTER'’ is written as 'DPNQVUFS’. How is LAPTOP" written in that code ?
(A)  MQPUPQ (B) MBQUPQ (C) MBQUQP (D) MBUQUQ

T2 F1 HAA 80 FH T 100 FE TF 97 Tl F 1 FAa A wiaww IfE FE?
The price of petrol rises from Rs. 80 to Rs.100. What is the percentage increase in price ?
Ay 10% (B) 30% (C) 20% (D) 25%

T WA ¥ R AR A F1 U 29 Al & < 0en, 50, 30 S SR | W U S v
i T i A # 3 f, 4 fe, 5 ol 6 e, e e T S g ) wen e i
I AN e ¥ | AP F H AW wel o T ¥ SeE # we W e 9rd ¥ ae
e g7

@) 7= (B) 4f= (© 3f= (D) s

Amanager has a team of four people : Adam, Brian, Carol and Diana. Each one has a different project
deadline : 3 days, 4 days, 5 days and 6 days, but not necessarily in that order. Adam'’s deadline is
earlier than Carol's. Brian's deadline is not the longest. Diana's deadline is the shortest. What is
Brian's deadline ?

(A) 7days (B) 4days (C) 3days (D) 5days

Frefafaa fam # Tawm (feria) Fi d@en 7@ Fifa)
Determine the number of pentagons in the following figure.

A) 8 ® 10 (C) & (D) 6
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